PRE-BOARD EXAMINATION (2023-24)
MATHEMATICS (041)
X
SET-B

P ' '\‘

Multiple Choice Questions (20 Marks)

w Question

The LCM of two numbers is 9 times their HCF. If the sum of LCM and HCF
is 500, then the HCF of two numbers is

| @10 (b) 90 (c) 50 (d) 45

1i-: cos® = V2 cos0, (0 # 90%), then the value oftan@is

@zl (V2 (d) —V2

sed against a 15 m high wall such that it just
hen the elevation of the wal

71 51 : I ,(c* - (dYYo" —

e ————— R — m—
e

4 | Cards marked with numbers 3, 4,5, 50 are placed in a box and mi‘xfa
thoroughly. A card is drawn at . omf%:m the box. The proha’glhw that
the selected card bears a perfect square numberis &, “\ , 50 '

"

(@), | ©= @5
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Irhﬂ 4”’[ term ﬁ‘OITI the end ﬂf thE AP -11; —B;. -5; v -l-@'u_l: 49l§

- | | --*I_ .
; (g_):'-;_ I () (f) ~ | (d)%
8 | What number should be added to the polynomial x? + 7x — 35 so that 3is 1
the zero of the polynomial?
(a) -35 (b) 7 ©-5 (@5 o
5 ) (0,13) _-mmo -1 (c) (0,12) (d) (13,0)

b

10 lﬂimmgle of depression of a car parked on the road from the top of a
150 m high tower is 30°, then the distance of the car from the base of the

tower (in metres) is
I

(a) 50V3 (b) 150V3 (c) 150V2 (d) 75

A girl calculates that the probability of her winning the first prize in a QL

y as 0.08. If 6000 tickets are sold, how many tickets has she bought?
' i~
(a) 40 (b) 240 (c) 480 (d) 750
12 [ Ifthe radius of a wheel is 0.25 m, then the number of revolutions it will | 1
10 cm by an
(a) 30° (b) 60% (c) 457
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ofa diameter AB. What is the length of
chord €D, which is parallel to XY and
Positioned 8 cm away from point A?

. "
1 F RWF -
T
¢ .

Abhinav created a model for his

| srﬁﬂdptl!bt:tiﬂ the shape of a
| ©linder with radius of 7 cm and a
ight of 21 cm, with hemisphere

Holiowed by a statement of Reason (R 00se the c¢ *ct option.
(a) Both assertion (A) and reason (R) are
(b):ur;lect explanation of assertion (A).
assertion (A) and reason (R) are true but
correct explanation of assertion (A). ! e
53-".“",",(), true but reason (R) is false,

true and reason (R) is the

i

(¥ Scanned with OKEN Scanner



19 | Assertion(A) : The point (— |, 6) divides the line segrnent]uipmg the |
pOintS(—3,10 6' .; | the ratio & /7 1INt

I Y

P 1
= 1110
e e i

tersect the other two sides at different points, than the
other two sides are divided in the same ratio.

SECTION-B
(10 Marks)
Quesﬂor Marks
21 | Find the LCM of (x? — 4) and (x* — 16). ~ P
["122 * There are students in two examination halls, A and B. To equalize the 2 |

| number of students in each hall, 10 students are transferred from A to B.
| However, if 20 students are sent from B to A, the number of students in A

| becomes double the number of students in B. Determine the number of
students in the two halls.

cpladmlcpolymmlalwhuemrosmauandaﬂ. C o

Find the area of the minor segment of a circle of radius 14
angle of the corresponding sector is 60°. cm, when the 2

OR

A piece of wire 20 cm long is bent i I
subtending an angle of ﬁogn § bentinto the form of an arc of a circle

atits centre. Find the radius of the circle.

gont

Two diceamtdta .
oo o gt aneously, the resulting product of the numbers |
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Using a quadratic formula solve the following quadratic equation:

pt + (p* — g*)x — q* =0
———————————————————— _-D__E

~ 28 | Inthegiven ﬂ.;circle s

erdl f

OR

vhat ratio e point (=, y ) divide the line segment joining the
point P (2, —2) and Q (3, 7)7 Also lind the value ol y. '

N ofthe bird from a poi ton the ground is 45°. The bird then
takes off horizontally from that point and maintains a constant heigh.
After 2 seconds, the angle of elevation of the bird from the point of
observation becomes 30°. Find the speed of the bird's flight.

SECTION-D
(20 Marks)

e RN

.d'_"l.l'.q.-r e 1 = S : : B

i-..‘T“@ | H-Em
__l F e h”._ E— RS i
™

b

—

3 :
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A is a point at a distance 10cmfrnmthecﬂnt_f__°0°£ oy e !

L o
. f|rJ'r1":

6 cm. AP and AQ are tangn_,ts , vn to the circie

cie and 1S ¢ AnNngent

circle from an external point If
<PBT= 30° prove that

_ 1\ R | |
| 33 | One-fourth of a herd of deer was spotted in the forest. Twice the square 5

| root of the herd went to the mountains, and the remaining 15 deer were
M“ﬁh tlle,bank of a river. Determine the total number of deer in the

OR

A sum of 9000 was divided equally among a certain number of people. If
there had been 20 more people, each person would have received 3160

P~
(ii) Evaluate the fc

cos60? - cot45” 4 cosecd
sec60? + tan45° - sin30°

ﬂ)lf! = iﬂcﬂ 4+ btanBandy =
x -y =at - b

(ii) Evaluate the following:
tan4s” sec60® 3

cosec3( cot4. 2
4, kot L

-_-_,_ﬁ__-i |

Expenditure | 1500 | 2000 |2500 |3000 | 3500

int
Numberof | 24
| | families

40 33 Y | 30

T
|
_|

e —

e — - e — —
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" LA i SECTION-E
(12 Marks) Il iy T

— e —————— R ——

E -._F:"I '_
A1) ] r , €

(i) In the given figure, find the area of APOQ.

(i) Find the distance travelled by the aeroplane towards the west after

1-hr

OR |
(ii) Flndthedlstnptm'elledbyﬂu aeroplmtowards the north after .‘

—

- ’hrl- e -

Sl J .T __ - l .
R ‘ (iv) Find the distance between the aeroplanes after 17 hr.

-

ir"';-

H n h aﬂt‘ﬂg stition alsn holds histnrit.al

and cultural lmportance Tho following ﬂgure depicts a kite where BCD

f42 cm.
represents the shape of a quadrant of a circle with a radius o
ABCD forms a squapree. anquCEF is an isosceles right-angled triangle with

equal sides measuring 7 cm. ,

T ———
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(i) Find the area of the square.

(ii) Find the area of quadrant BCD.
OR

(ii) Find the area of the shaded portion.

_I (iii) Find the area of the unshaded portion.

— e —

—— — -
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1' | ] x -_-_- .ln_‘ 21 S5CH0U| ,r:‘j_x_ wed _."lr__ : ter
}‘ !ﬂ. "IL""‘ Ty e . i __' -__',' Ill ".1 coﬁi

with the same height and di;meter as a cyllnder The Jdinder has a height
of 24 cm and a base radius of 7 *Em. While watching, some questions came

| to Rinku's mind. Help Rinku to find the answer from the following
questions. -

(i) Find the slant height of the conical cavity so formed.

. ‘ L . . N
u I! 1 1,.. ii‘-f";.-fl iy L_.. . ?‘?l*'h."":“;-“ I i = 'i_ b 4'! I-.I.i.ll_ e

—

Sl e

) -~ " --
}

a ﬂt—*.

L 4

‘e area ul‘the cylinder sb'fn

(ii) Find the external ¢

| (iii) Find the volume of the conical cavity.

— —— ——— —_—
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